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#include <stdio.h>
int board[9][9]={{5,3,4,6,7,8,9,1,2},
{6,7,2,1,9,5,3,4,8},
{1,9,8,3,4,2,5,6,7},
{s8,5,9,7,6,1,4,2,3},
{4,2,6,8,5,3,7,9,1},
{7,1,3,9,2,4,8,5,6},
{9,6,1,5,3,7,2,8,4},
{2,8,7,4,1,9,6,3,5},
{3,4,5,2,8,6,1,7,9}};
void f1()
{

printf("|");

for (int i = 0; 1 < 23; i++)

{

printf("-");
}

printf("|\n");



int main()

{
printf("#AILEMEAH: \n");
for (int i = @; i < 9; i++)
{
if (i % 3 ==0)
{
f10);
}
printf("| ");
for (int j = @; j < 95 j++)
{
if (3 % 3 ==0 8&& j)
{
printf("| ");
}
printf("%d ", board[i][j1);
}
printf("[\n");
}
f10);
}
(CXFELEY

IP address: 172.17.8.1
Users online: 4
To run a command as administrator(user "root"),use "sudo <command>"

[s2224421652@localhost ~]1$ cd "/home/s2224421652/sudoku_matrix"
[s2224421652@localhost sudoku_matrix]$ gcc tl.c -o tl.out
[s2224421652@localhost sudoku_matrix]$ ./tl.out
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#include <stdio.h>
#include <stdlib.h>
#include <time.h>
int board[9][9] = {0}, f[9] = {0};
void f1()
{

printf("|");

for (int 1 = 0; i < 23; i++)

{
printf("-");
}
printf("[\n");
}
void operate()
{
for (int i = @; i < 9; i++)
{
if (i %3 ==0)
{
f10);
¥

printf("| ");
for (int j = 0; j < 9; j++)
{

if (3 % 3 == 0 && jJ)



printf("| ");

}
printf("%d ", board[i][j]);
}
printf(*[\n");
}
f10);
}
void Random(int n)
{
int k = 9;
while (k)
{
int i = rand() % 3, j =rand() % 9;
i4= (n - 1) * 3;
if (F[i] == @)
{
if (board[i][]j] == @)
{
board[i][§] = k;
k--;
}
}
int cnt = 0;
for (int m = 0; m < 9; m++)
{
if (board[i][m])
{
cnt++;
}
}
if (ent == 3)
{
£[i] = 1;
}
}
}
int main()
{
printf ("BENLA A 9x9 A SERAIHERE: \n");
srand(time(NULL));
Random(1);

Random(2);



Random(3);

operate();

(CRERAES |

[s2224421652@localhost sudoku_matrix]$ gcc t2.c -o t2.out
[s2224421652@localhost sudoku _matrix]$ ./t2.out
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#include <stdio.h>

int
int
int
{6,
{0,
{8,
{4,
{7,
{0,
{0,

{e,

f[o] = {e};

ti[o][o] = {e}, t2[9][9] = {e}, t3[9][9] = {e};
board[9][9] = {{5, 3, @, @, 7, 0, 0, 0, 0},
0,0, 1,9,5,0, 0, 0},

9, 8,0, 0,0,0,6, 0},

0, 0,0, 6,0, 0, 0, 3},

0, 0, 8, 0, 3, 0, 0, 1},

0, 0,0, 2,0, 0, 0, 6},

6, 0, 0, 0, 0, 2, 8, 0},

0,0, 4,1, 9, 0, 0, 5},

0, 6, 0, 8,0, 0, 7, 9}};

void 1()

{

¥

printf("|");
for (int i = 0; i < 23; i++)
{
printf("-");
}

printf("|\n");

void operate()

{

for (int 1 = 0; 1 < 9; i++)

{
if (1 %3 ==0)
{
f10);
}
printf("| *);
for (int j = @; j < 9; j++)
{
if (3 % 3 == 0 & J)
{
printf("| ");
¥
printf("%d ", board[i]1[]);
}
printf("[\n");
}

f10);



¥

void judge()

{
for (int 1 = 0; 1 < 9; i++)
{
for(int j = 0; j < 9; Jj++)
{
if (board[i][3j])
{
ti[i][board[i][j] - 1]++;
t2[3]board[i][] - 1]++;
t3[(1 / 3) * 3 + 3 / 3][board[i][]j] - 1]++;
¥
}
}
for (int 1 = 0; 1 < 9; i++)
{
for (int num = @; num < 9; num++)
{
if (t1[i][num] > 1)
{
printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the row %d has been used!", num + 1, i + 1);
return;
¥
else if (t2[i][num] > 1)
{
printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the col %d has been used!", num + 1, i + 1);
return;
¥
else if (t3[i][num] > 1)
{
printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the block %d has been used!", num + 1, i + 1);
return;
¥
¥
}
printf("True:Valid initial Sudoku matrix!");
}
int main()
{

printf("The original Sudoku matrix:\n");



operate();

judge();

// int board[9][9] = {{8, 3, ©, @, 7, @, 0, 0, 0},
// {6, e, 6, 1, 9, 5, @0, 0, 0},
// {e, 9, 8, 0, 0, 0, 0, 6, O},
// {8, e, o, 0, 6, 0, 0, 0, 3},
// {4, e, o, 8, 0, 3, 0, 0, 1},
// {7, e, e, 0, 2, 0, 0, 0, 6},
// {e, 6, 0, 0, 0, 0, 2, 8, 0},
// {e, o, 0, 4, 1, 9, 0, 0, 5},

// {0, o, 0, 0, 8, 0, 0, 7, 9}};

// int board[9][9] = {{5, 3, @, @, 7, @, 0, 0, 0},
// {6, e, @, 1, 9, 5, @0, 0, 0},
// {e, 9, 8, 0, 0, 0, 0, 6, O},
// {8, e, o, 0, 6, 0, 0, 0, 3},
// {4, e, o, 8, 0, 3, 0, 0, 1},
// {7, e, e, 0, 2, 0, 0, 0, 6},
// {e, 6, 0, 0, 0, 0, 2, 8, 0},
// {e, o, 0, 4, 1, 9, 0, 0, 5},

// {0, o, 0, 0, 8, 0, 0, 7, 9}};

(217453 ]
board0:

[s2224421652@localhost sudoku_matrix]$ gcc t3board@.c -o t3board@.o
ut
[s2224421652@localhost sudoku_matrix]$ ./t3board@.out

original Sudoku matrix:

True:Valid initial Sudoku matrix![s2224421652@localhost sudoku_matr
ix1s i

boardl1:



[s2224421652@localhost sudoku_matrix]$ ./t3boardl.out
original Sudoku matrix:
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#include <stdio.h>
int f[9] = {0}, copy[9][9] = {@};
int t1[9][9] = {@}, t2[9][9] = {e}, t3[9][9] = {e};
int board[9][9] = {{8, 3, 0, 0, 7, @, 0, 0, 0},
{6, o, 0, 1, 9, 5, @0, 0, 0},
{e, 9, 8, 0, 0, 0, 0, 6, O},
{8, o, 0, 0, 6, 0, 0, 0, 3},
{4, o, o0, 8, 0, 3, 0, 0, 1},
{7, e, o, 0, 2, 0, 0, 0, 6},
{e, 6, 0, 0, 0, 0, 2, 8, 0},
{e, o, o0, 4, 1, 9, 0, 0, 5},
{e, o, 0, 0, 8, 0, 0, 7, 9}};
int ifans = 9;
void f1()
{

printf("|");

for (int i = 0; 1 < 23; i++)

{
printf("-");
}
printf("[\n");
}
void operate()
{
for (int i = @; i < 9; i++)
{
if (i %3 ==0)
{
f10);
}

printf("| *);

for (int j = 0; j < 9; j++)

{
if (§ %3 ==0 8 J)
{
printf("| ");
}

printf("%d ", board[i][j1);



¥

int judge()

{

¥

¥

printf("[\n");

f10);

for (int 1 = 0; 1 < 9; i++)

{

¥

for(int j = 0; j < 9; Jj++)

{

if (board[i][3j])

{

ti1[i][board[i][]j] - 1]++;
t2[j][board[i][]j] - 1]++;

t3[(1 / 3) * 3 + 3 / 3][board[i][]j] - 1]++;

for (int 1 = 0; 1 < 9; i++)

{

for (int num = @; num < 9; num++)

{

if (t1[i][num] > 1)

{

¥

printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the row %d has been used!\n", num + 1, i + 1);
printf("No solution!");

return 0;

else if (t2[i][num] > 1)

{

¥

printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the col %d has been used!\n", num + 1, i + 1);
printf("No solution!");

return 9;

else if (t3[i][num] > 1)

{

printf("False:Invalid initial Sudoku matrix!\n");
printf(" The number %d in the block %d has been used!\n", num + 1, i + 1);
printf("No solution!");

return 9;



}
printf("True:valid initial Sudoku matrix!\n");
return 1;
}
void fill(int x, int y)
{
int num;

if (x == 9 & y == 0)

{
printf("The solution of Sudoku matrix:\n");
operate();
ifans = 1;
}
else
{
if (copy[x][y])
{
if (y == 8)
{
fill(x + 1, 0);
if (x == 0 && y == 0 && ifans == 0)
{
printf("No solution!");
}
return;
¥
else{
fill(x, y + 1);
if (x == 0 && y == 0 && ifans == 0)
{
printf("No solution!");
}
return;
¥
}
else
{

for(num = 1; num <= 9; num++)
{
if (t1[x][num - 1] == @ && t2[y][num - 1] == @ && t3[(x / 3) * 3 +y / 3][num - 1] == 0)
{
board[x][y] = num;

ti[x][num - 1] = 1;



t2[y][num - 1] = 1;
t3[(x / 3) * 3 +y / 3][num - 1] = 1;
if (y == 8)
{
// operate();
Fill(x + 1, 0);
board[x][y] = ©;
ti[x][num - 1] = 0;
t2[y][num - 1] = @;

t3[(x / 3) * 3 +y / 3][num - 1] = 0;

}
else{
// operate();
Fill(x, y + 1);
board[x][y] = ©;
ti[x][num - 1] = 0;
t2[y][num - 1] = @;
t3[(x / 3) * 3 +y / 3][num - 1] = o;
}
}
¥
if (x == 0 & y == 0 && ifans == 0)
{
printf("No solution!");
¥
return;
¥
}
}
int main()
{

printf("The original Sudoku matrix:\n");
operate();

for (int 1 = 0; 1 < 9; i++)

{
for (int j = @; 3 < 95 j++)
{
copy[1][j] = board[i][3j];
}
}
if(judge())
{
fill(e,0);



// int board[9][9] = {{8, 3, @, @, 7, @, 0, 0, 0},
// {6, e, @, 1, 9, 5, @0, 0, 0},
// {e, 9, 8, 0, 0, 0, 0, 6, O},
// {8, e, @, 0, 6, 0, 0, 0, 3},
// {4, e, o, 8, 0, 3, 0, 0, 1},
// {7, e, e, 0, 2, 0, 0, 0, 6},
// {e, 6, 0, 0, 0, 0, 2, 8, 0},
// {e, o, 0, 4, 1, 9, 0, 0, 5},

// {0, o, 0, 0, 8, 0, 0, 7, 9}};

// int board[9][9] = {{5, 2, @, @, 7, @, @, 0, 0},
// {6, e, @, 1, 9, 5, 0, 0, 0},
// {e, 9, 8, 0, 0, 0, 0, 6, 0},
// {8, o, @, @0, 6, 0, 0, 0, 3},
// {4, e, o, 8, 0, 3, 0, 0, 1},
// {7, e, @, @, 2, 0, 0, 0, 6},
// {e, 6, 0, 0, 0, 0, 2, 8, 0},
// {e, o, 0, 4, 1, 9, 0, 0, 5},

// {0, o, 0, 0, 8, 0, 0, 7, 9}};

[iz1745 3]
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board0:



[s2224421652@localhost sudoku_matrix]$ gcc tdboard@.c -o td4boardo.o
ut

[s2224421652@localhost sudoku_matrix]$ ./t4board0.out

The original Sudoku matrix:

|
[s2224421652@localhost sudoku_matrix]s$ [

boardl1:

[s2224421652@localhost sudoku_matrix]$ gcc tdboardl.c -o tdboardl.o
ut

[s2224421652@localhost sudoku_matrix]$ ./t4boardl.out

The original Sudoku matrix:

:Invalid initial Sudoku matrix!
The number 8 in the col 1 has been used!
No solution![s2224421652@localhost sudoku_matrix]$ I

board2:



[s2224421652@localhost sudoku_matrix]$ gcc t4board2.c -o t4board2.o
ut
[52224421652@localhost sudoku_matrix]$ ./t4board2.out

original Sudoku matrix:

True:Valid initial Sudoku matrix!
No solution![s2224421652@localhost sudoku_matrix1$ Ji
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